WD TIVRID'T YR YR naw naoon MIA AT TINHH 1y B

2.74
70b (17 739 837 08 ) > 71b (7799 I853)

73,7 8777 1RO YR INRVN HY N2 NHR DY NTYY 127 K1 RVD TYR INRYN PHR YTiN IR

19,7 8777 :19 N2 INRVDA 109D PYY 1991 DNV NI APND ANATAN PYVR? 1270 Y2 NYY

I Rav'sruling: if he violates 2 maron (Ma, Mb) having forgotten naw (only), then vioaltes them again maxron nnwa
a.  Ruling: if he finds out about naw namw (about Ma) and then finds out about narYn nuw (about Ma)
i Then: 1 nxon for naw nnw “covers” all; Ma “drags” Mb in to 0793
b.  However: if he was told about naxon nnw (Ma), that “drags” naw nnw (Ma+Mb) but Mb of nax%n nw remains
i. »axn: Mb drags the corresponding Mb (same naxYn) and 1 nron covers all
c.  Challenge: X171 doesn’t accept the “drag” principle:
i &2p: if he ate 2 o1 of 2a5n, then was notified about 15, then ate a 3t
1. ~a7if he brought a 127p for #1, 1+2 are “covered”; if for #3, 2+3 covered; if for #2 — all covered
2. »an: any 129 he brings covers all
ii. Answer: after X171 heard »aR’s position, he accepted a limited form of “n”
1. Difference: X271 only accepts one stage of N3, »ar extends to N7 NV
d. ~7r’r wasn’t certain about this issue (he either asked the following question or it was asked of him)
i case: if he did ¥2 Ma and %2 Mb ( %2 1w of 21n) when forgetting naw, then %2 Ma and %2 Mb with naxr5n naw
1. question: do they join to generate 2vn
2. answer: they are separate mIRVN >not 410N
a. challenge: does separation for mron automatically mean that they aren’t q7vxn?
i. Counter: 2:3 mn»3 — if he ate 29N several times during one nYyn — only liable for 1 nxon
1. But: if he ate 9m1 ,07 ,2%n and %9 in one nYyn, liable for each
a.  Conclusion: this is the X1mn of multiple types
b.  And: the X9 of a single type is 917% (Y2 mo1 of 250+ Y2 1ot of Y108 aren’t 970xn)

i. In our discussion: we challenged 27n - TnR pn as being obvious
ii. 572w7. this is a case of separate bowls, per Y171’ 1 who sees separate bowls as distinct
—only R1mn% (multiple mron) but not X5pY (still 470xn0)
iii. Conclusion: they have separate mxvn yet are 970xn
b.  Defense: comment should be read about 2" ruling —if 2 prn, not 70N
i. 57awT. case is 2 pnnn, teaching that ywin’ *1 rules that they are separate even 915

ii. Challenge: if the X0 is 2 bowls of one type, Xw» must be 1 bowl of 1 1n — obviously q1vxn
1. Justification: he had awareness between the %2 n’n’t — nonetheless, they are 970xn
a. Per: 3 —who holds that there is no ny»1 for a Myw »sn
II. Dispute Y"aw/1ny "7 about awareness between repeat violations
a. Case: if he ate 2 12 (e.g. 25n) in one nYyn, found out about 1 then found about the other

i. 7212 7. owes 2 mRon — per v. 1 (implies j27p brought based on awareness)
1. ©02:is a case where he ate 1.5 r>1, found out about 1, then ate another .5 during nyn of first .5 — not 970xn
ii. 572w7. owes 1 nrRon — per v. 2 (implies that the moment of M43 is the critical one)

1. ol: refers to after 193
b.  X2227's question (of 2N *): is their dispute if he found out before designating animals (but if after, all agree to 2 mxon)
i. Dispute: is ny»1 a distinguishing moment
1. Or:is their dispute if he found out afterwards (but if before, all agree to 1 nxon)
2. Dispute: if nw1an the distinguishing moment or until 1193, all considered one “moment”
a.  Or:is the dispute in both cases
ii. Answer (?wK "7): reasonable that the dispute is in both cases
1. Else: if they agreed that after nw19n he brings 2, 5"2w1 could’ve interpreted v1 as nw1an InRY
2. And: if they agreed that before nw1an he brings 1, 1 could’ve interpreted v2 as nwian oTp
3. Rejection: perhaps the n’poa were provided to account for our uncertainty
a. If: ' holds that even before nw1an he owes 2, v2 could be interpreted as the case of 1.5+.5
b. And if: 9"av1 holds that even after nw1an he owes 1, v1 could be interpreted as after n193
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